	
	А
	О
	У
	И

	1
	3+1=
	4-4=
	
	2+1=

	2
	6-1=
	
	5-1=
	7-7=

	3
	8+1=
	9-9=
	4+1=
	

	4
	5+2=
	
	6+2=
	3-3=

	5
	
	10-1=
	
	1+1+1=

	6
	10-0=
	7-2=
	
	10+0=

	7
	8-2=
	
	5-0=
			

	8
	
	10-2=
	
	5-5=

	
	А
	О
	У
	И

	1
	23+1=
	44-4=
	
	62+1=

	2
	16-1=
	Прочитай буквы латинского алфавита:
a, b, c, k, y, x
	35-1=
	47-7=

	3
	18+1=
	79-9=
	24+1=
		10см



        ? на 3см  м.                           

	4
	35+2=
	
	56+2=
	73-3=

	5
		2см	

      3см

             2см
	100-1=
	
3см	   3см

      3см
Р - ?
	10+10+10=

	6
	100-0=
	17-2=
	
	10+10+5=

	7
	68-2=
	37-х=30
    х-?
	55-0=
	   	2см	
2см	   2см	

2см
Р  -?

	8
	1дм=?см
  1м=?см
   
	100-2=
	х+10=40
  х - ?
	35-5=

	
	А
	О
	У
	И

	1
	
23+3=
	
64-60=
	
	
Продолжи счёт:
2,4,6,…..........20

	2
	
36-10=
	Прочитай буквы латинского алфавита:
a, b, c, k, y, x
	
75-5=
	
47-40=

	3
	
18+2=
	
59-9=
	
25+5=
		1дм



        ? на 4см  м.                           

	4
	
30+2=
	Посчитай 
от 38 до 45
	
50+7=
	
7 дес.,2ед.=…

	5
	
4дес., 8ед.=…

	
90-2=
	
Продолжи счёт:
5,10,15,……..50

	
20+10+10=

	6
	
Посчитай 
от 20 до 10
	
Продолжи счёт:
10, 20,30,…….
	
100+0-50=
	
10+10+5=

	7
	
17-(5+5)=
	27-х=7
    х-?
	
55-0=
	   	2см	
2см	   2см	

2см
Р  -?

	8
	1дм=? см
1м=? см
1см=?  мм
   
	
100-2=
	х+10=100
  х - ?
	
35-5=

	
	А
	О
	У
	И

	1
	
20-(10+10)=

	Посчитай 
от 48 до 57

	
	
2∙5=

	2
	
2∙4=

	5+5+5+5=

	∙	      =
	
77-3=
	
57-50=

	3
	
28+2=
	3+3+3=
			
      ∙      =
	
25+3=
		1дм



        ? на 4см  б.                           

	4
	
30+4=
	Посчитай 
от 48 до 41
	
50+7=
	
9 дес.,2ед.=…

	5
	
2+2+2+2=
	∙	=
	
100-5=
	
Продолжи счёт:
50,45, 40,……5
	
20+0+10=

	6
	
Посчитай 
от 20 до 10
	
Продолжи счёт:
10, 20,30,…….
	
2∙3=
	
10+10+5=

	7
	
37-(5+5)=
	47-х=40
    х-?
	3см
	3см


3см
	   	3см	
3см	   3см	

3см
Р  -?

	8
	1дм=? см
1м=? см
1см=?  мм
   
	
2∙2=
	х+10=100
  х - ?
	Посчитай 
от 35 до 30




